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The commonality [between them] is that through a claim, etc.

OVERVIEW

The X713 derives the 7¥12w 21°1 by 27V from a Mwn 7¥ of X"y 0. Just as by
R"¥1 10, where there is a claim (71vv) and a denial (77°927), it results in a
72w (for the defendant); similarly by 07y where there is a claim and a
denial, the defendant is required to swear. Mo0IN explains why we cannot
refute this Mwn 7¥ by presenting a case where there is a 717°921 71vv and
nevertheless there is no 7y12w.

mooIn asks:
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And if you will say; a 3'"m2 will prove that the argument of 777921 mayw "'y
is insufficient to require a 7¥12w, for a "> also consists of a 799531 mIYY
and nevertheless the 2" is MWD from a 7v12w. The same should apply to *7y.

Mmo0IN answers:
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And one can say that in this 727 7% there is credible claim in all the cases -
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For when he admits partially, or one 7 contradicts him, it appears that

the defendant is lying and therefore there is an oath. However in the case of a
2"M> we cannot attribute a credible claim to the plaintiff. It is not considered a credible
7w if there is nothing to support his claim and the defendant denies everything.

SUMMARY
The mwn 7¥ of 771°901 Mavw refers to a credible claim.

THINKING IT OVER
1. How can mpo1n ask that the X773 could have refuted the 7x7 7n with a o7
from 2"m>? There is a rule” that you cannot refute a %1 7 through a v

2. Why do we not derive that a 3"/ is 21 a 712w from this same 7% 7n?!*

' By "7y the claim has that much more credibility, for the 2>7y support [half] his claim. It is more than
merely pwn 71X he is a pwn X7.

% See 2,10p T that 11°219 K2 RnOYN 11°079 DM T8 0

? See n"nX # 20.

* See w"x17 MO
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